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BBEJIEHUE

[IporpamMma y4eOHOM MPaKTHKHU SBISETCS YacTbIO MPOrpaMMBbl MOJATOTOBKHU
CHENUAIMCTOB cpeaHero 3seHa B cooTBercTBUU ¢ PI'OC no cneuunansHocTH CIIO
09.02.07 «MHpOpMaLIMOHHBIE CUCTEMBI U TPOTPAMMHUPOBAHKE» B YaCTU OCBOCHHUS
OCHOBHOTO BHJa npodeccuonanpHoi nesrenpHocTH (BIINl). JlanHas mpakThka
HarpanjeHa Ha (OPMUPOBAHUE CIETYIONUX KOMIETEHIUH:

OK 01 BsiOupare cnocoObl pemeHds 3anad  OpodecCHuOHATbHOM
NEATENBHOCTH, IPUMEHUTENBHO K Pa3JIMYHBIM KOHTEKCTaM

OK 02 OcymiecTBisTh MOUCK, aHAIM3 M HHTEPHPETALMIO HHPOPMALINH,
HEOOXOMMOM I BBITIOTHEHHS 33124 MpodeCCHOHATBHON ACSITENbHOCTH

OK 03 ITnanupoBath U pearn3oBbIBaTh COOCTBEHHOE MPOGECcCHOHAIBHOE U
JUYHOCTHOE Pa3BUTHE

OK 04 PabGorate B KOMJIEKTMBE U  KOMaHne, J((PEeKTUBHO
B3aMMOJIECTBOBATH C KOJIJIETaMH, PYKOBOJICTBOM, KIIMEHTaMU

OK 05 OcymecTBiasiTh yCTHYHO ¥ NHUCBMEHHYK) KOMMYHHMKALMIO Ha
rOCy/IapCTBEHHOM $I3bIKE C Y4E€TOM OCOOEHHOCTEW COIMAIBHOTO M KYJbTYpHOTO
KOHTEKCTa

OK 06 [IposBiATH rpaXkJaHCKO-NIaTPUOTUYECKYIO MIO3ULHUIO,
JEMOHCTPUPOBATh  OCO3HAHHOE  TIOBEJACHHME HA  OCHOBE  TPAIUIIMOHHBIX
OOLIEYEIOBEYECKUX IIEHHOCTEW, MPUMEHATh CTaHAApThl AHTUKOPPYHNLHUOHHOTO
NOBEACHUS

OK 07 CopneiicTBOBaTh  COXPAHEHUIO OKpYXawmen  Cpepl,
pecypcocOepexennto, 3h(PEeKTUBHO NEUCTBOBATh B UYPE3BBIYANHBIX CUTYAIUSIX

OK 08 HMcnonws3oBath cpenctBa (HU3MUECKON KYIbTYPHI JJII COXpPAHEHUS U
YKpEIUIeHUs] 3/J0pOBbS B Ipoliecce MNpo(PEecCHOHANbHON JeATEIbHOCTH U
nojJIep>KaHusl HEOOXOIMMOI0 YPOBHS (PU3NYECKON MOATOTOBIEHHOCTH

OK 09 Vcnonws3oBath HHGOOPMAIIMOHHBIE TEXHOJIOTHH B MPOGECcCHOHATBHON

ACATCIBHOCTHU
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OK 10 Tlo;mb3oBatbcsi  mpodeCcCHOHAIBHOM — JOKyYMEHTalued  Ha
rOCyAapCTBEHHOM U MHOCTPAHHOM SI3bIKaxX

I[IK 6.1 PaspabGaTeiBaTh TEXHHYECKOE 3aJaHUE HAa COINPOBOXKJICHUE
MH(OPMAITMOHHOW CUCTEMBI

[IK 6.2 BbIMOTHATH HCHpaBICHHE OIMMOOK B IPOTPAMMHOM  KOJE
MH(POPMALMOHHON CUCTEMBI

IIK 6.3 Pa3pabatrbiBaTh OOy4YaroOIIyt0 JOKYMEHTAIUIO AJIA MOJIb30BaTENEH
UH(OPMAITMOHHON CUCTEMBI

I[IK 6.4 OueHuBaTh Ka4ecTBO H HAJESKHOCTh (DYHKIIMOHUPOBAHUS
UH(POPMAITMOHHON CHUCTEMBl B COOTBETCTBHM C KPHUTEPUSIMHU TEXHUYECKOTO
3aJIaHHUs

I[IK 6.5 OcymecTBisiTh TEXHUYECKOE COIMPOBOXKIEHUE, OOHOBICHHE U
BOCCTAHOBJICHHE JaHHBIX MH(DPOPMAIIMOHHOM CHUCTEMBI B COOTBETCTBUU C

TCXHUYCCKHUM 3a1aHHNCM
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1 BUAbI THOOPMAILIMOHHBIX CUCTEM
1.1 CoctaB u knaccudukaius HHHOPMAIIMOHHBIX CHCTEM
1.1.1 OOuue cBeneHus

1.1.2 NupuBuayanbHOE 3a1aHUE

1.1.2.1 3a0anue 1

YcnoBue 3a1a4um NpeIcTaBiIeHo Ha pucyHke 1.1.

Sum of divisors

You have to print the sum of divisors of all the numbers from [l to .
It's superfast when you know the trick but you have to find it.

For example if n=4, lets define d(n) the set of the divisors of n:
*d(1)={1}.

*d(2)={1.2}.

* d(3)={1.3},

* d(4)={1.2.4}.

And their sum is 1+1+2+1+3+1+2+4=15.

Look carefully at the divisors to find the trick.

A single number

The sum

1<f<100000

Pucynok 1.1

Sum of divisors

using System;

using System.Linq;

using System.IO;

using System.Text;

using System.Collections;

using System.Collections.Generic;

public class Solution

{

public static void Main(string[] args)

{
long n = long.Parse(Console.ReadlLine());
long sum = 0;
for (long i =n - 1; i >=0; i--)
{

sum += GetDivisors(n--).Sum(); // Sum nNo3BONAKT CAOXKUTb BCE SNEMEHTHI
cnucka

}
Console.WritelLine(sum);

}

public static IEnumerable<long> GetDivisors(long n)
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var result = new List<long>();

for (long i = 1; i <= Math.Sqrt(n) + 1; i++)

{
if (n % i == 0)
{
// Ecnn cnaraemble paBHbl, fobaBnsieM OAMH dNEeMeHT
if (n / i == 1)
{
result.Add(i);
}
else // WHaye BbIBOAMM 06a
{
result.Add(i);
result.Add(n / i);
}
}
}

return result.Distinct();

1.1.2.2 3a0anue 2

VYcnoBue 3aaun NpeACTaBiIeHO HA PUCYHKe 1.2.

Line 1: Two integers [} and [[B. lengths of two groups.
Line 2: String &0, first group of ants.

Line 3: String 84, second group of ants.

line 4: An integer [, the number of seconds passed.

Single line: Containing the state of groups after i seconds

0<[{ (B <50
0sf<50

Pucynok 1.2

Army ants

using System;

using System.Ling;

using System.IO;

using System.Text;

using System.Collections;

using System.Collections.Generic;

class Solution
{
static void Main(string[] args)
{
string[] inputs = Console.ReadlLine().Split(' ');
int N1 = int.Parse(inputs[@]); // [AnuHa nepBoi rpynnsl MypaBbéB
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int N2 = int.Parse(inputs[1]); // [AnuHa BTOpOW rpynnsl MypaBbEéB

string S1 = Console.ReadlLine(); // MepBas rpynna mypaBbés

string S2 = Console.ReadLine(); // BTopas rpynna MypaBbéB

int T = int.Parse(Console.ReadlLine()); // Bpemsi npoxoxaeHus MypaBb-€B 4yepes
Apyr Apyra

S1 = string.Join("",S1.Reverse());

char[] result = (S1+S2).ToArray(); // Npeobpa3oBaHne nepemeHHON B Maccus, A
paboTbl C MHAEKCOM 3NEeMEHTOB

for(int 1 = 1; 1 <= T; 1i++)

{
for(int j = @, j < result.Length- 1 ; j++)
{

char f
char n

result[j]; // NepBbii anemeHT CnNUcka
result[j+1]; // Cnepywwuin 3nemMeHT CnucKa

if(S1.Contains(f) && S2.Contains(n)) // Ecnu nepBas rpynna co-AepxuT
NepBbii 3/1eMEHT CMMCKa WM BTOpas rpynna COAEPXUT BTOPOW 3SNeMeHT CNucKa
{
var temp = result[j]; // Temp - nepemeHHas clyxawas SYENKOW MamaTH
ANs 3anoMUHAHWA COPTUPOBOYHLIX 3/IEMEHTOB
result[j] = result[j+1];
result[j+1] = temp;

j++;
}
}

}

Console.Writeline(string.Join("", result)); // Wcnonb3yem meTop Join, pans
BblBOJA CLEMEHHBIX OYKB.
}
}

1.2 Knaccudukaius uHHOpMAIIMOHHBIX CUCTEM
1.2.1 OOurue cBeneHUs
1.2.2 unuBuayanbHOE 3a1aHKE

1.2.2.1 3a0anue 1

VYcnoBue 3aga4u npecTaBiIeHoO Ha pucyHke 1.3.

the number [[fJ of words in the dictionary
the words in the dictionary. One word per line.

the 7 letters available.

The word that scores the most points using the available letters (1 to 7 letters).
The word must belong to the dictionary. Each letter must be used at most once
in the solution. There is always a solution.

0 <[] < 100000
Words in the dictionary have a maximum length of 30 characters.
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Pucynok 1.3
Scrabble

using System;

using System.Collections.Generic;
using System.Linq;

using System.Text.RegularExpressions;

public class Solution
{
private static IDictionary<IEnumerable<char>, int> scrabbleRate = new Dictio-
nary<IEnumerable<char>, int>

{
{ new List<char> { 'e', 'a', 'i', 'o', 'n', 'r', 't', '1', 's', 'u' }, 1
}I
{ new List<char> { 'd', 'g' }, 2
}I
{ new List<char> { 'b', 'c', 'm', 'p' }, 3
}I
{ new List<char> { 'f', 'h', 'v', 'w', 'y' }, 4
}I
{ new List<char> { 'k' }, 5
}I
{ new List<char> { 'j', 'x' }, 8
}I
{ new List<char> { 'q', 'z' }, 10
}
b
public static bool IsPossibleWord(IEnumerable<char> letters, string word)
{
while (true)
{
if (!letters.Any())
if (word.Length > 0)
return false;
else
return true;
var character = letters.Take(1l).First();
letters = string.Concat(letters.Skip(1l));
if (!word.Contains(character))
continue;
else
{
var regex = new Regex(Regex.Escape(character.ToString()));
word = regex.Replace(word, string.Empty, 1);
}
}
}

public static int LetterRate(char character)
{
return scrabbleRate.Where(listCharacter =>
listCharacter.Key.Contains(character)).Select(rate => rate.Value).First(),;
}
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public static void Main(string[] args)

{

int N = int.Parse(Console.ReadlLine());

var dictionnaryWords = Enumerable.Range(@, N).Select(x => Console.Read-
Line()).TolList();

var letters = Console.ReadlLine();

var possibleWord = dictionnaryWords.Where(word => word.Length <= letter-
s.Length)
.Where(word => word.All(character =>
letters.Contains(character)))
.Where(word => IsPossibleWord(letters,
word)) .TolList();

var bestWordRated = possibleWord.OrderByDescending(x =>
WordRate(x)).First();

Console.WritelLine(bestWordRated);

}
public static int WordRate(string word)
{
return word.Sum(LetterRate);
}

1.2.2.2 3a0anue 2

VYcioBue 3aga4yu MpeCcTaBiIeHO HAa pUCYHKe 1.4.

Snake encoding

Line 1: ). the size of the square
Line 2: §§, the number of times you must encode

Next [iJ lines: A line of the text to encode

lines of the encoded text

1<=fi§<=20
1<

The input text is composed of ASCII characters

Pucynok 1.4

Snake encoding
using System;

internal class Solution
{
private static void Encode(string[,] arr)
{
var N = arr.GetlLength(Q);
var j = 0;
var last = N % 2 ==0 ? arr[N - 1, N - 1] : arr[@, N - 1];

YITIM-06.MuAllC-2022

n3m.

Jluc Ne OoKyM. Modnucs | am

Jluc




while (j < N)

{
if (j % 2 == 0)
{
for (int 1 =N - 1; 1 >=0; i--)
{
var temp = arr[i, jl;
arr[i, j] = last;
last = temp;
}
}
else
{
for (int i = ©; i < N; i++)
{
var temp = arr[i, jI;
arr[i, j] = last;
last = temp;
}
}
j++;
}
}
private static void Main(string[] args)
{
int N = int.Parse(Console.ReadlLine());
int X = int.Parse(Console.ReadlLine());
var arr = new string[N, NJ];
int j;
for (int i = @; i < N; i++)
{
var LINE = Console.ReadlLine().ToCharArray(),;
for (j = @; j < N; j++)
{
arr[i, j] = LINE[]j].ToString();
}
}
for (int i = 0; i < X; i++)
{
Encode(arr);
}
for (int i = @; i < N; i++)
{
for (j = Q; j < N; j++)
{
Console.Write(arr[i, j]);
}
Console.WritelLine();
}
}
}
Jluc
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2 COITPOBOXKIEHUE YUETHBIX MHOOPMAIIMOHHBIX CUCTEM
2.1 ApxurekTypa yuyeTHON HHPOPMAIIMOHHON CUCTEMBI
2.1.1 OOmrue cBeneHus

2.1.2 UnguBuayanbHOE 3aaHUE

2.1.2.1 3a0anue 1

YcnoBue 3a1a4um NpeIcTaBIeHO HA pUCYHKe 2.1.

Mars Lander - Episode 2

A with 2 integers: 2

. is the desired rotation angle for Mars Lander. Please note that for
each turn the actual value of the angle is limited to the value of the
previous turn

. is the desired thrust power. o = off. 4 = maximum power. Please
note that for each turn the value of the actual power is limited to the value
of the previous turn

2= <30
0= E4 <7000
0= i <3000

-500 < (EE). Y < 500

0 = §iE) = 2000

-90 = EERS < 90

(VB power B

Response time per turn s 100ms

Pucynok 2.1
Mars Lander — Episode 2

using System;

using System.Linq;

using System.IO;

using System.Text;

using System.Collections;

using System.Collections.Generic;

/**

* Auto-generated code below aims at helping you parse
* the standard input according to the problem statement.
**/
class Player
{
static void Main(string[] args)
{
string[] inputs;
int surfaceN = int.Parse(Console.ReadlLine()); // the number of points used to
draw the surface of Mars.
int landingPointX1l = 0;
int landingPointX2 0;
int landingPointMiddle = 0;
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to 6999)

linking

int landingPointY = 0;
int done = 0;

@0; 1 < surfaceN; i++)

for (int i

inputs = Console.ReadlLine().Split(' ');
int landX = int.Parse(inputs[@]); // X coordinate of a surface point. (0@

int landY = int.Parse(inputs[1]); // Y coordinate of a surface point. By

all the points together in a sequential fashion, you form the surface of Mars.

Console.Error.WriteLine($"landx = {landX}; landY = {landY}");

if (landY == landingPointY && done == 0)

{
landingPointY = landY;
landingPointX2 = landX;
done = 1;
} else if (landY != landingPointY && done == 0)
{
landingPointY = landyY;
landingPointX1 = landX;
}

landingPointMiddle = (landingPointX1 + landingPointX2) / 2 ;

Console.Error.WritelLine($"H={landingPointY};X1={landingPointX1};X2={land-

ingPointX2};XM={landingPointMiddle}");

}

// safety and physic engine:
double g = 3.711, maxMthrust = 4;
int maxHspeed = 20, maxVspeed = 40;

//different Variables for math stuff
double mSpeed = 0.00;
double desiredAngle = ConvertRadiansToDegrees(Math.Acos(g / maxMthrust));

int mRotate = @, mThrust = 4;
int mDistanceTolLandingArea = 0;
// game loop
while (true)
{
inputs = Console.ReadlLine().Split(' ");
int xMars = int.Parse(inputs[0]);
int yMars = int.Parse(inputs[1]);
int hSpeed = int.Parse(inputs[2]); // the horizontal speed (in m/s), can

be negative.

int vSpeed = int.Parse(inputs[3]); // the vertical speed (in m/s), can be

negative.
int fuel = int.Parse(inputs[4]); // the quantity of remaining fuel in
liters.
int rotate = int.Parse(inputs[5]); // the rotation angle in degrees (-90
to 90).
int power = int.Parse(inputs[6]); // the thrust power (@ to 4).
Jluc
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mSpeed = ConvertRadiansToDegrees(Math.Sqrt(Math.Pow(hSpeed, 2) +
Math.Pow(vSpeed, 2)));

// if not landing area
if (!((landingPointX1 < xMars) && (xMars < landingPointX2)))
{
Console.Error.WritelLine($"not landing Area");
// Check for direction
if ((xMars < landingPointX1 && hSpeed < @) || (landingPointX2 < xMars
&& hSpeed > @) || (Math.Abs(hSpeed) < (2 * maxHspeed)))
{
Console.Error.Write($"not over Landing place. \nDesired Angle =
{desiredAngle}");
//mRotate = Convert.ToInt32(desiredAngle);
mRotate = Convert.ToInt32((xMars < landingPointX1l) ? -desiredAngle
(landingPointX2 < xMars) ? desiredAngle : 0);
Console.Error.WritelLine($"\nmRotate = {mRotate}");
}
else if (Math.Abs(hSpeed) > 2 * maxHspeed)
{
mRotate = Convert.ToInt32((xMars < landingPointX1l) ? (desiredAn-
gle): (landingPointX2 < xMars) ? (-desiredAngle) : 0);
Console.Error.Writeline($"turn in right direction -> {mRotate}");

else

Console.Error.WritelLine($"Landing Area");
// Landing Area
if (yMars < landingPointY + 200)

{
Console.Exrror.WritelLine($"critical Area");
mRotate = 0;
mThrust = 4;

}

else if ((Math.Abs(hSpeed) <= (maxHspeed - 5)) && (Math.Abs(vSpeed) <=
(maxVspeed - 5)))

{
Console.Error.WritelLine($"In Save Speed\n{hSpeed} vs {maxHspeed}\

n{vSpeed} vs {maxVspeed}");

mThrust = 2;
}
else
{
mThrust = 4;
if (hSpeed != 0)
{

Console.Error.Writeline($"correcting Rotation");

double sining = hSpeed / mSpeed;

double radRotate = Math.Atan(sining);

double degRotate = ConvertRadiansToDegrees(radRotate) * 100.0;

double mRotateTest = Math.Round(degRotate);

Console.Error.Write($"h={hSpeed} m={mSpeed} s={sining}
r={radRotate}\nd={degRotate} rot={mRotateTest}");

mRotate = Convert.ToInt32(mRotateTest);

mRotate = MaxValueAllowed(mRotate, 70, -70);
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Console.Error.WritelLine($" mRot={mRotate}");
}
else

mRotate = 0;

// Correct Min and Max Value
MaxValueAllowed (Convert.ToInt32(mThrust),4,0);
MaxValueAllowed (mRotate, 90, -90);

// Write an action using Console.Writeline()

// To debug: Console.Error.Writeline("Debug messages...");

/1

// rotate power. rotate is the desired rotation angle. power is the de-

sired thrust power.

Console.Error.Writeline($"Output = {mRotate} {mThrust}");
Console.WritelLine($"{mRotate} {mThrust}");
}

}
public static double ConvertRadiansToDegrees(double radians)
{
double degrees = (180.@0 / Math.PI) * radians;
return (degrees);
}
public static int MaxValueAllowed(int value, int Max, int Min)
{
if (value > Max)
{
// Console.Exrror.WritelLine($"Max returned");
return Max;
}
else if (value < Min)
{
// Console.Error.WriteLine($"Min returned");
return Min;
}
// Console.Exrror.WritelLine($"Returning Value");
return value;
}
}
2.1.2.2 3aoanue 2
VYcioBue 3aga4uu NpeaCcTaBICHO Ha PUCYHKE 2.2.
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the number [ of participants
the price [[@ of the gift
the list of budgets [EJ of participants.

+ Ifitis possible to buy the present : lines, each containing the
contribution of a participant. The list is sorted in ascending order.
= Otherwise the word [IMPOSSIBLE |

0 <[] = 2000
0 = {9 = 1000000000

0 = |i£] = 1000000000

Pucynok 2.2
The Gift

using System;

internal class Solution

{

private static void Main(string[] args)

{

int.Parse(Console.ReadlLine());
int.Parse(Console.ReadlLine());

var oodNumber
var giftPrice

// holds the budget for each ood
var oodBudgets = new int[oodNumber];

// total buget for all oods combined
var totalBudget = 0;

for (int i = @; i < oodNumber; i++)

{
oodBudgets[i] = int.Parse(Console.ReadlLine());
totalBudget += oodBudgets[i];

}

if (totalBudget < giftPrice)

{
// the total budget is not enough to cover the cost of the gift
Console.WritelLine("IMPOSSIBLE");
return;

}

// if we have enough money, let's see how to best distribute the cost

var oodsLeft = oodNumber; // keeps track of how
many oods still have monely left

var oodPays = new int[oodNumber]; // keeps track of how
much each ood will pay

// as long as we haven't yet covered the cost of the gift,

// and the cost requires more than 1 unit from each ood that still has
money left

// .. keep splitting the cost

while (giftPrice > oodsLeft)
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{

var fair = giftPrice / oodsLeft;

ideal fair split given # of oods that still have money

for (var i = oodNumber - 1; i >= 0; i--)
{

if (oodBudgets[i] == @) continue;

money, skip him..

ood contribute?

after payment

var pays = Math.Min(oodBudgets[i], fair);

oodBudgets[i] -= pays;

if (oodBudgets[i] == @) oodsLeft--;

money now, reduce # of ood left

mainder cost

giftPrice -= pays;

oodPays[i] += pays;

tal payed by this ood

}

// if we're here, and there is still some cost left,

}

// what would be an

// this ood is out of

// how much will this

// update his budget,
// if he's out of

// also reduce the re-

// and update the to-

// it must only require unit money from each ood left
(var i = oodNumber - 1; i >= @ && giftPrice > 0; i--)

for

{

money, skip'm..

if (oodBudgets[i] == @) continue;

oodBudgets[i]--;
giftPrice--;
oodPays[1]++;

total amount to pay

}

// we have to list of how much each ood pays

// but we have to present it in ascending oxrder, so

Array.Sort(oodPays);

// we're done (just print out each payment)

// this ood is out of

// pays a unit..
/1 cost is reduced
1/ and update his

sort it..

for (int i = @; i < oodNumber; i++)
Console.WritelLine(oodPays[i]);
}
}
2.2 XpaHwinia y4eTHON HH(OPMAILIMOHHON CUCTEMBI

2.2.1 OOuue cBeaeHUA
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2.2.2 UnauBuayaibHOE 3aaHUE

2.2.2.1 3aoanue 1

VYcioBue 3a1a4um MpeaCcTaBICHO HA PUCYHKE 2.3.

There is no Spoon - Episode 1

one integer for the number of cells along the x axis.

one integer for the number of cells along the y axis.

Astring containing characters. A dot
represents an empty cell. A zero o represents a cell containing a node.

. Six integers on each line:

) the coordinates of a node
) the coordinates of the closest neighbor on the right of the node
) the coordinates of the closest bottom neighbor

If there is no neighbor, the coordinates should be

Pucynok 2.3

There is not spoon - episode 1

using System;

class Player

{
private static bool[,] matrixAlreadyFound;
private static void FindSiblingCell(bool[,] matrix, int rowIndex, int
columnIndex)

{
matrixAlreadyFound[rowIndex, columnIndex] = true;
Console.Write("{@} {1} ", columnIndex, rowIndex);

var rightFind = false;
int righIndex = columnIndex + 1;
for (, righIndex < matrix.GetlLength(1l); righIndex++)

{
if (matrix[rowIndex, righIndex])
{
rightFind = true;
break;
}
}

var bottomFind = false;

var bottomIndex = rowIndex + 1;

for (; bottomIndex < matrix.GetlLength(@); bottomIndex++)
{
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true;

dex++)

}

if (matrix[bottomIndex, columnIndex])

{
bottomFind = true;
break;
}
}
if (!rightFind)
{
righIndex = -1;
rowIndex = -1;
}
if (!bottomFind)
{
columnIndex = -1;
bottomIndex = -1;
}
Console.Write(righIndex + " " + rowIndex + " ");
Console.WritelLine(columnIndex + " " + bottomIndex);

if (rightFind && !matrixAlreadyFound[rowIndex, righIndex])
{

FindSiblingCell(matrix, rowIndex, righIndex);

}

if (bottomFind && !matrixAlreadyFound[bottomIndex, columnIndex])
{

FindSiblingCell (matrix, bottomIndex, columnIndex);

}

static void Main(string[] args)

{

var width = int.Parse(Console.ReadlLine());
var height int.Parse(Console.ReadlLine());
var matrix = new bool[height, width];
matrixAlreadyFound = new bool[height, width];

for (int rowIndex = @; rowIndex < height; rowIndex++)

{
var line = Console.ReadlLine().ToCharArray();
for (int columnIndex = @; columnIndex < line.Length; columnIndex++)
{
matrix[rowIndex, columnIndex] = line[columnIndex] == '.' ? false :
}
}

for (int rowIndex = @; rowIndex < matrix.GetlLength(@); rowIndex++)

{

for (int columnIndex = @; columnIndex < matrix.GetLength(1l); columnIn-

{

if (matrix[rowIndex, columnIndex] && !matrixAlreadyFound[rowIndex,

columnIndex])
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FindSiblingCell(matrix, rowIndex, columnIndex);

2.2.2.2 3a0anue 2

VYcnoBue 3a1aun NpeicTaBICHO HA pUCYHKE 2.4.

the number [[f] of cards for player one.

the cards of player one.

the number m of cards for player two.

the cards of player two.

If players are equally first: [FAT

Otherwise, the player number (i or [@) followed by the number of game
rounds separated by a space character. A war or a succession of wars
count as one game round.

0<[{. [ < 1000

Pucynok 2.4
WAR

using System;
using System.Collections.Generic;
using System.Ling;

public class Solution

{
public static int GetCardValue(string card)
{
if (int.TryParse(card.Substring(@, card.Length - 1), out var val))
return val;
else
{
if (caxd[@] == 'J")
return 11;
else if (card[@] == 'Q')
return 12;
else if (card[@] == 'K')
return 13;
else if (card[@] == 'A")
return 14;
}
throw new InvalidOperationException();
}

public static int GetWinner(string cardl, string card2)

{
if (GetCardValue(cardl) > GetCardValue(card2))
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return 1;

else if (GetCardValue(cardl) < GetCardValue(card2))
return 2;

else
return 0;

}

public static void Main(string[] args)

{
LinkedlList<string> cardsPl = new LinkedList<string>();
LinkedList<string> cardsP2 new LinkedList<string>();
LinkedList<string> cardsOnTablePl = new LinkedList<string>();
LinkedList<string> cardsOnTableP2 = new LinkedList<string>();

int n = int.Parse(Console.ReadlLine()); // the number of cards for player 1
for (int i = 0; 1 < n; i++)
{
string cardpl = Console.ReadlLine(); // the n cards of player 1
cardsPl.AddLast(cardpl);
}
int m = int.Parse(Console.ReadlLine()); // the number of cards for player 2
for (int i = 0; 1 < m; i++)
{
string cardp2 = Console.ReadlLine(); // the m cards of player 2
cardsP2.AddLast(cardp2);

}

int rounds = 0;

while (true)

{
// The game ends when one player no longer has cards
if (!cardsPl.Any())

{
Console.WritelLine($"2 {rounds}");
return;

}

else if (!cardsP2.Any())

{
Console.WritelLine($"1 {rounds}");
return;

}

bool playingWar;

do

{

playingWar = false;

// Each player draws a card
cardsOnTableP1.AddLast(cardsP1l.First.Value);
cardsOnTableP2.AddLast(cardsP2.First.Value);
cardsP1l.RemoveFirst();
cardsP2.RemoveFirst();

// Play the round
int roundWinner = GetWinner(cardsOnTablePl.Last.Value, card-
sOnTableP2.Last.Value);
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if (roundWinner == 1)
{
foreach (var card in cardsOnTableP1)
{
cardsP1l.AddLast(card);
}

foreach (var card in cardsOnTableP2)
{

cardsP1.AddLast(card);
}

cardsOnTablePl.Clear();
cardsOnTableP2.Clear();

ilse if (roundWinner == 2)

{ foreach (var card in cardsOnTableP1)
{ cardsP2.AddLast(card);
}

foreach (var card in cardsOnTableP2)
{

cardsP2.AddLast(card);
}

cardsOnTableP1.Clear();
cardsOnTableP2.Clear();
}
else // war!
{
// If we don't have enough cards => draw
if ((cardsPl.Count < 4) || (cardsP2.Count < 4))
{
Console.WritelLine("PAT");
return;
}

// Place 3 cards face down

for (int i = 0; i < 3; ++i)

{
cardsOnTableP1.AddLast(cardsPl.First.Value);
cardsOnTableP2.AddLast(cardsP2.First.Value);
cardsP1l.RemoveFirst();
cardsP2.RemoveFirst();

}

// Draw the next cards
playingWar = true;
}
} while (playingWar);

rounds++;
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2.3 CriocoObl OTCNEKUBaHUA OIIMOOK B YUYETHOM MHPOPMALIMOHHOM

CHUCTEME
2.3.1 OOuwme cBeneHns
2.3.2 UnauBuayanbHOE 3aaHNE

2.3.2.1 3a0anue 1

YcioBue 3agaum npeaCcTaBiICHO HA PUCYHKE 2.5.

Mayan Calculation

the width [ and height [§J of a mayan numeral.

the ASCII representation of the 20 mayan numerals. Each line is
(20 x [@) characters long.

the amount of lines of the first number.

the first number, each line having |8 characters.
the amount of lines &4 of the second number.

the second number, each line having [§ characters.

the operation to carry out: *, /, +, or

The result of the operation in mayan numeration, [ lines per section, each
line having [§ characters.

o< Gl <100

0< |, <1000

The remainder of a division is always 0.

The mayan numbers given as input will not exceed 263,

Pucynok 2.5

Mayan Calculation

using System;
using System.Collections.Generic;
using System.Ling;

public class Solution

{

public class Number

{
public Number(long number, IList<string> representation)

{
NumberInBasel® = number;
matrix = representation;
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}
public IlList<string> matrix { get; set; }
public long NumberInBasel® { get; private set; }

public string GetRepresentation()
{

return string.Concat(matrix);

}

public static long GetNumber(int H, IList<Number> numbers)
{
var firstNumbersRep = new List<string>();
int S1 = int.Parse(Console.ReadlLine());
for (int i = @; i < S1; i++)
{
firstNumbersRep.Add(Console.ReadlLine());

var numberOfNumber = S1 / H;

var calPuis = numberOfNumber - 1;
var result = 0;
for (int i = @; i < numberOfNumber; i++)

var matrix = new List<string>();
for (int j @; j <H; j++)
{

matrix.Add(string.Concat(firstNumbersRep[(i * H) + j] + Environ-

ment.NewlLine));

}
result += Convert.ToInt32(numbers.Where(x =>

x.matrix.SequenceEqual(matrix)).First().NumberInBasel® * Math.Pow(20, calPuis--));

}
return Convert.ToInt32(result);

}

public static void Main(string[] args)
{
var numbers = new List<Number>();
string[] inputs = Console.ReadlLine().Split(' ');
int L = int.Parse(inputs[@]);
int H = int.Parse(inputs[1]);
var listRepresentation = new List<string>();
for (int i = @; i < H; i++)
{

listRepresentation.Add(Console.ReadlLine());

var numberOfNumber = listRepresentation.First().Length / L;
for (int i = @; i < numberOfNumber; i++)

var matrix = new List<string>();
for (int j = @; j < H; j++)
{
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matrix.Add(string.Concat(listRepresentation[j].Skip(i *
L).Take(L)) + Environment.NewlLine);

}

numbers.Add(new Number(i, matrix));

}
var first = GetNumber(H, numbers);
var second = GetNumber(H, numbers);

string operation = Console.Readline();
long resultOperation = 0;

switch (operation)
{
case "+":
resultOperation
break;

first + second;

case "-":
resultOperation
break;

first - second;

case "/":
resultOperation
break;

first / second;

case "*":
resultOperation
break;

first * second;

default:
break;
}

var resultBase2@ = Encode(resultOperation, 20);
foreach (var num in resultBase20)

{
Console.Write(numbers.Where(x => x.NumberInBasel® == num).First().Ge-
tRepresentation());
}

}

private static IEnumerable<long> Encode(long input, int baseToConvert)

{
if (input < @) throw new ArgumentOutOfRangeException("input", input, "in-
put cannot be negative");

var result = new Stack<long>();
if (input == @) result.Push(Q);

while (input != 0)

{
result.Push(input % baseToConvert);
input /= baseToConvert;

}

return result;
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2.3.2.2 3a0anue 2

VYcnoBue 3a1auu NpeIcTaBICHO Ha pUCYHKE 2.6.

Gravity

SHE NI SR —

INPUT:
Line 1 : Two integers: The map width and height .

m next lines : characters: (] or [§#).

OUTPUT:
m lines: characters where the # are at the bottom of the grid.

CONSTRAINTS:

0 < Kiflsigl < 100
[\Bq height Rlv]

Pucynok 2.6
Gravity

using System;

public class Solution
{
public static void Main(string[] args)
{
string[] inputs = Console.ReadlLine().Split(' ');
int width = int.Parse(inputs[Q]);
int height = int.Parse(inputs[1]);
var result new int[width];

for (int i @; 1 < height; i++)

{
var line = Console.ReadlLine().ToCharArray(),;
for (int j = 0; j < width; j++)
{
if (line[j] == '#')
{
result[j] += 1;
}
}
}
for (int 1 = @; i < height; i++)
{
for (int j = 0; j < width; j++)
{
if (result[j] >= height - 1i)
{
Console.Write("#");
}
else
{
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Console.Write(".");

}

Console.WritelLine("");

Jluc
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3 COITPOBOXJEHUWE OBJIAYHBIX NTHOOPMAILIMOHHBIX CUCTEM
3.1 OTnuuus cepBEpHBIX U OOJTAUYHBIX TEXHOJIOTHIM
3.1.1 OGmue cBeneHMs

3.1.2 UupuBuayaibHOE 3a1aHUE

3.1.2.1 3aoanue 1

YcnoBue 3a1a4um NpeIcTaBiIeHO HA pUCYHKe 3.1.

Elementary cellular automaton

Line 1: Arule ﬂ provided as a Wolfram code.

Line 2: The number i of lines to output.
Line 3: The starting to evolve. @ and . represent 1 and o.

lines: The evolution of the starting g The first line must be the
starting pattern, itself, and the next [[]-1 lines represent the subsequent
evolutions from the starting pattern.

0s[f) =255
10 = [EELEY length < 50

Pucynok 3.1

Elementary cellular automaton

using System;
using System.Collections.Generic;
using System.Ling;
using System.Text;

public class Solution

{

private static string GetEvolution(string pattern, Dictionary<string, char>
neighborhoods)

{

var result = new StringBuilder();

var neighborhoodFirstKey = pattern.Last() +
string.Concat(pattern.Skip(0).Take(2));
result.Append(neighborhoods[neighborhoodFirstKey].ToString());

for (int 1 = 1; i < pattern.Length - 1; i++)

{
var neighborhoodKey = string.Concat(pattern.Skip(i - 1).Take(3));
result.Append(neighborhoods[neighborhoodKey].ToString());

}

var neighborhoodlLastKey = string.Concat(pattern.Skip(pattern.Length -
2).Take(2)) + pattern.First();
result.Append(neighborhoods[neighborhoodlLastKey].ToString());
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return result.ToString();

}
public static void Main(string[] args)
{
var wolframCode = Convert.ToString(int.Parse(Console.ReadlLine()), 2).Re-
place('®', '.').Replace('l', '@').PadLeft(8, '.'");
var numberOfEvolution = int.Parse(Console.ReadlLine());
var pattern = Console.ReadlLine();
var neighborhoods = new Dictionary<string, char>
{
{ "@@@", wolframCode.ElementAt(Q) },
{ "@@.", wolframCode.ElementAt(1l) },
{ "@.@", wolframCode.ElementAt(2) },
{ "@..", wolframCode.ElementAt(3) },
{ ".@@", wolframCode.ElementAt(4) },
{ ".@.", wolframCode.ElementAt(5) },
{ "..@", wolframCode.ElementAt(6) },
{" ", wolframCode.ElementAt(7) }
b
for (int i = @; i < numberOfEvolution; i++)
{
Console.WritelLine(pattern);
pattern = GetEvolution(pattern, neighborhoods);
}
}

3.1.2.2 3aoanue 2

VYcnoBue 3aauu NpeicTaBICHO HA pUCYHKE 3.2.

Dwarfs standing on the shoulders of giants

The number [if] of relationships of influence.

a relationship of influence between two people in the form
of [ (whitespace) [fJ. which indicates that [ influences [fJ. The relationships
of influence are listed in any order.

The number of people involved in the longest succession of influences.

0< [f) < 10000
0<§4. B < 10000

Pucynok 3.2

Dwarfs standing on the shoulders of giants
using System;
using System.Collections.Generic;
using System.Linq;

public class Solution
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public static void Main(string[] args)

{
var relationships = new Dictionary<int, List<int>>();
var numberOfRelationships = int.Parse(Console.ReadlLine());

for (int 1 = @; i < numberOfRelationships; i++)

{
string[] inputs = Console.ReadlLine().Split(' ');
var influencer = int.Parse(inputs[Q]);
var influenced = int.Parse(inputs[1]);
AddRelationship(relationships, influencer, influenced);
}

var longestRelationship = relationships.Keys
.Select(influencer => 1 + RouteRelationships(re-
lationships, influencer))
Max();

Console.WriteLine(longestRelationship);

}

private static int RouteRelationships(Dictionary<int, List<int>> relation-
ships, int influencer)
{
var longestRelationship = 0;
if (relationships.ContainsKey(influencer))
{
longestRelationship = relationships[influencer]
.Select(influenced => 1 + RouteRelationships(re-
lationships, influenced))
.Max();
}
return longestRelationship;
}

private static void AddRelationship(Dictionary<int, List<int>> relationships,
int influencer, int influenced)

{
if (!relationships.ContainsKey(influencer))
{
relationships.Add(influencer, new List<int>());
}
relationships[influencer].Add(influenced);
}
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3.2 OcHOBHBIE BU/Ibl OOJAYHBIX APXUTEKTYP
3.2.1 Obuue cBeneHus
3.2.2 UnauBuayanbHOE 3a1aHUE

3.2.2.1 3aoanue 1

VYcnoBue 3a1aun NpeicTaBiICHO Ha pUCYHKE 3.3.

Ancestors & Descendants

Line 1: An integer m for the number of family members.

Next [[f] lines: Each line represents one family member.

Output the family descendants full names each on a separate line.

Pucynok 3.3

Ancestors and Descendants

using System;
using System.Collections.Generic;
using System.Ling;

public class Solution

{

private static void Main(string[] args)

{
var list = new List<Node>();
int count = int.Parse(Console.ReadlLine());

for (int i = @; i < count; i++)
{
string line = Console.ReadlLine();
if (!line.StartsWith("."))
list.Add(new Node { Id = line });
else
list.Last().AddChild(line.Substring(1));
}

foreach (var item in 1list)

{

foreach (var s in item.GetChildrenHierarchy())

{

Console.WritelLine(s);

}

}

public class Node

{
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public Node()
{

Children = new List<Node>();

}

public string Id { get; set; }
public List<Node> Children { get; set; }

public void AddChild(string name)

{
if (name.StartsWith("."))
{
name = name.Substring(1l);
Children.Last().AddChild(name);
}
else
{
Children.Add(new Node { Id = name });
}
}
public IEnumerable<string> GetChildrenHierarchy/()
{
var result = Id + " > ";
var list = new List<string>();
if (Children.Count() == 0)
yield return Id;
else
{
foreach (var itesm in Children)
{
if (itesm.Children.Count() == 0)
{
yield return result + itesm.Id;
}
else
{
foreach (var item in itesm.GetChildrenHierarchy())
{
yield return result + item;
}
}
}
}
}
3.2.2.2 3ao0anue 2

VYcnoBue 3aaun NpeACTaBiIeHO HA PUCYHKE 3.4.
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Anagrams

Therefore, if your input is scrambled phrase MLSOHYTA RMLESS, you must
return MOSTLY HARMLESS.

Line 1: A scrambled word phrase

The unscrambled phrase

Only upper-case characters [A-Z] are used.

Pucynok 3.4

Anagrams
using System;
using System.Collections.Generic;
using System.Ling;

public class Solution

{

public static void Main(string[] args)

{
var phrase = Phase4(Console.ReadlLine());
phrase = Phase3(phrase);
phrase = Phase2(phrase);
Console.WritelLine(Phasel(phrase));

}

public static string Phasel(string phrase)
{
// 2nd letter of the alphabet
var letters = Enumerable.Range(®, 26).Where(i => i % 2 != 0).Select(i =>
(char) (i + 65));
var queue = new Queue<char>();

foreach (var character in phrase.Reverse().Where(c =>
letters.Contains(c)))

{

queue.Enqueue(character);

}

return Replace(phrase, letters, queue);

}

public static string Phase2(string phrase)
{
// 3rd letter of the alphabet
var letters = Enumerable.Range(@, 26).Where(i => i % 3 == 2).Select(i =>
(char) (i + 65));
var queue = new Queue<char>();

var phl = phrase.Where(c => letters.Contains(c));
foreach (var character in phl.Skip(1l))
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{

queue.Enqueue(character);

}
if (phl.Count() >= 2)
queue.Enqueue(phl.First());

return Replace(phrase, letters, queue);
}

public static string Phase3(string phrase)
{
// 4th letter of the alphabet
var letters = Enumerable.Range(®, 26).Where(i => i % 4 == 3).Select(i =>
(char) (i + 65));
var queue = new Queue<char>();

var ph2 = phrase.Where(c => letters.Contains(c));

if (ph2.Count() >= 2)

{
queue.Enqueue(ph2.Last());
foreach (var character in ph2.Take(ph2.Count() - 1))
{
queue.Enqueue(character);
}
}
return Replace(phrase, letters, queue);
}
public static string Phase4(string phrase)
{
// 4th letter of the alphabet
var wordLength = phrase.Split(" ".ToCharArray()).Select(c => c.Length).Re-
verse();
phrase = phrase.Replace(" ", string.Empty);
var result = string.Empty;
foreach (var length in wordLength)
{
result += phrase.Substring(@, length) + " ";
phrase = phrase.Substring(length);
}
return result.Trim();
}
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4 JOKYMEHTHUPOBAHMUE TTPOLIECCOB BHEJIPEHUA 1
COITPOBOXIAEHMA NTHOOPMALIMOHHBIX CUCTEM

4.1 Ku3HeHHbIH UMK HHPOPMALMOHHON CUCTEMBbI
4.1.1 O0wme cBeneHus

4.1.2 NunuBuayallbHOE 3aJ]aHUE

4.1.2.1 3ao0anue 1

VYcnoBue 3aauM NpeicTaBiIeHO Ha pUCYHKe 4. 1.
Conway Sequence

T

The original number ﬂ of the sequence.

The line {§ to display. The index of the first line is 1.

The line [} of the sequence. Each element of the sequence is separated by a
space.

0 <[ <100
O<|§s25

Pucynok 4.1

Conway Sequence

using System;

using System.Linq;

public class Solution

{

public static string GetDescription(string valuesString) // nepepaem 3HaudeHue

{

var values = valuesString.Split(' ').Select(x => int.Parse(x)).TolList(); // Bxoasuwyiw
CPOKY pa3fenseM Ha >neMeHTbl

var lastVal = values.First(),; // nepeHoCUM cCambii MepBbIi 3NEMEeHT MNOoCneAoBaTeNbHOCTHU
var count = 0;

var result = string.Empty; // nycTas cTpoka

for (int i = @; i < values.Count; i++) // po nocnegHero snemeHTa B values

{

if (lastVal != values[i]) // cMOTpMM paBeH NN NPembAyWwnin 30-T TeKywemy
{
result += count + " " + lastVal + " ";

count = 1; // ysenu4nBaem Ha 1
lastVal = values[i]; // 3anoMuHaem KakK TeKywun 3n-T

}

else count++; // ecnn OHW paBHbl, TO CYETUYMK yBenuynBaem Ha 1
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if (i + 1 == values.Count) // npoBepsieM He [OWAN NN Mbl AO MOCNEAHEro 31-Ta

{

result += count + + values[i]; // ecnu cnep. 3an-T NocnegHuin, To npubaBnsem K
pe3ynbTaTy fobaBnsieM cYeTuMK U 4Yepe3 npoben aobaBnsieM 3HaA4y. MNOCNEAHEro 3JieMeHTa
}

}

return result.Trim(); // Bo3spaT pe3ynbTaTa, Trim - ybupaeT 3n-Tbl

}
public static void Main(string[] args)

{

var R = Console.ReadlLine(); // ucxofHbll HOMep nocnefoBaTeNbHOCTU, Hayano

int L = int.Parse(Console.ReadlLine()); // cTpoka, nocnefoBaTeNbHOCTb,KOTOPON HYXHO
BbIBECTU

for (int 1 =0; i <L - 1; i++)

{

R = GetDescription(R); // Bbi3biBaeM MeTOA W Mepefaem 3HayeHWe KaxAoW CTPOKKU
}

Console.WritelLine(R); // BbiBOpA

}

}

4.1.2.2 3a0anue 2

VYcoBue 3aaun MpeACTaBICHO HA PUCYHKE 4.2.

Shadows of the Knight - Episode 1

2 integers [[flE. The (). B couple represents the width and height
of the building as a number of windows.

1 integer [, which represents the number of jumps you can make
before the bombs go off.

2 integers representing your starting position.

The direction indicating where the bomb is.

A with 2 integers separated by a space character. (3.
represents the location of the next window you should jump to. g§ represents,
the index along the horizontal axis, §§ represents the index along the vertical
axis. (0,0) is located in the top-left corner of the building.

1= < 10000

-3 < 10000

2s =100

0s B4, BUl < W

0=§3. <H

Response time per turn = 150ms
Response time per turn < 150ms

Pucynok 4.2
Shadow of knight-ep1

using System;

using System.Lingq;

using System.IO;

using System.Text;

using System.Collections;

using System.Collections.Generic;

class Player
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static void Main(string[] args)

{
string[] inputs;//maccus
inputs = Console.ReadlLine().Split(' '),;//pa3pensiem BXOASWWYKW CTPOUKY Ha 2
mMaccusa
int W = int.Parse(inputs[@]); // wupuHa 3paHuS.
int H = int.Parse(inputs[1]); // BbicOTa 3aaHus.

int W@ = 0;//HavanbHas no3uuus

int HO = 0;//HavanbHas no3uuus

int N = int.Parse(Console.ReadlLine()); // makcumanbHOe KONMYECTBO XOAOB [0
OKOHYaHUSA Urpsbl.

inputs = Console.ReadlLine().Split(' ');//cTpoka c koopavHaTamy 63TMaHa u
pa3saensekm Ha npobensl

int X@ = int.Parse(inputs[@]);//KoopauHaThl

int Y@ = int.Parse(inputs[1]);//KoopauHaThl

// VWrpoBoOW UMKN
while (true)
{
string bombDir = Console.ReadlLine(); // HanpaBneHue 60Mb6 OT TeKkywero
mecTtonofnoxenna bstmeHa (U, UR, R, DR, D, DL, L wunm UL)

if (bombDir[@] == 'U')//HanpoBneHne BBepX, 3HAUUT pacCMaTpMBaeM YTO CHU3Y

{
H=Y0o,//
YO = HO + ((YO - HO) / 2);
}
else if (bombDir[@] == 'D')//HanpoBfieHMe BHW3, 3HA4YWT paccMaTpuBaem 4TO
BBEPXY
{
HO = YO,
Y0 =H - ((H-Y0) / 2),;
}
if (bombDir[@] == 'L' || bombDir.Length > 1 && bombDir[1l] ==
'L')//HanpaBneHne BNeBO, 3HAYUT pacCMaTpuBaeM 4TO CMpaBo
{
W = X0;
X0 = WO + ((X0 - Wo) / 2); //((X0 - Wo) / 2),
}
else if (bombDir[@] == 'R' || bombDir.Length > 1 && bombDir[1l] ==
'R'")//HanpaBnHne BNpaBO, 3Ha4MT paccMmaTpumBaem 4YTO cClieBa
{
We = Xo,
X0 =W - ((W- X0) / 2),;
}
//mMecTononoxeHne cnefywlero OKHa, B KOTOPOEe [O/KEH MPbirHYyTb B3TmeH.
Console.WriteLine(X0 + " " + YOQ);
Console.Exror.WritelLine(W0);
}
}
}
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4.2 CrannapThl JOKyMEHTUPOBAHUS MHGOPMAIIMOHHBIX CUCTEM
4.2.1 O6mue cBeaeHus
4.2.2 apuBuayanpHOE 3aJaHUE

4.2.2.1 3a0anue 1

VYcnoBue 3a1auu NpeicTaBiIeHO Ha pUCYHKE 4.3.

uessing n Cheating

Line 1 An integer [BJ for the number of rounds in the transcript
Next ﬂ lines: Each line is a conversation between Bob and Alice, to form one
round in the game.

The conversation lines format is given by this example:

50 too low
=> Bob says "50", followed by Alice saying "too low".

If there is no evidence showing Alice was dishonest, write No evidence of
cheating.

As soon as you can prove Alice was cheating, write Alice cheated in round X
where X is the first round number indicating Alice did cheat.

Round number counts from 1, to 2, to 3, and so on.

@ sso0

Pucynok 4.3
Guessing and Cheating

using System;

using System.Linq;

using System.IO;

using System.Text;

using System.Collections;

using System.Collections.Generic;

public class Solution

{

public static void Main()

{

int R = int.Parse(Console.ReadlLine()); // Konu4ecTBO payHAOB, LEN0O€ 4YNCIIO

int start = 1, end = 100; // anana3oH 3arapaHHbIX yucen

for (int i = @; i < R; i++)

{

string[] guess = Console.ReadlLine().Split(); // co3paem maccuB, CUYUTbIBAeM, YTO FOBOPUT
606 1 anuca yepes KOHCONb

int bob = int.Parse(guess[@]); // 3anommHaem, 4TO ckasan 606 (umcno)

string alice = guess[1l] + " " + guess[2]; // 3anommHaem, 4TO CKa3ana anumca (¢pasb C
npobenamn)

if (alice == "too low") // ecnu anuca cKa3ana "CAUWIKOM HU3KO"

{

start = Math.Max(start, bob + 1); // Bbipe3aem TO, 4TO HMxe 3adveHns 6ob6a, Math.Max - wu3
OBYX BXOAAWWMX 3HayeHUN BbibrpaeM MakcuManbHoe

}

else if (alice == "too high") // ecnn anuca ckasana "CAUWKOM BbICOKO"
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{
end = Math.Min(end, bob - 1); // Bblpe3saem TO, 4TO Bblwe 3HaydeHus 606a, Math.Min - u3
ABYX BXOAAWMX 3HAYEHWUA BbibUpaem MUHUMANbHOE

}

if (end < start || alice == "right on" && !(start <= bob && bob <= end)) // MNpoBepsem,
He obmanynu nn Anucy, || - wnm, && - n, ! - He

{

Console.WritelLine("Alice cheated in round {@}", i + 1); // Anuca obmaHyna B payHie
Environment.Exit(0Q);

}

}

Console.WriteLine("No evidence of cheating"); // HeT poka3aTenbcTB 0obmMaHa

}

}
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3AKJIFOYEHUE

B pesynpraTe mnpoxoxkaeHus ydeOHOM MNpPaKTUKA OBbUIM PACCMOTPEHBI
CIIEYIOIlME BOMNPOCHL: PACCMOTPEHHE BOIPOCOB COCTaBa HH(OPMALMOHHBIX
CUCTEM; PACCMOTPEHUE BOMPOCOB KiaccU(pUKauu MH(GOPMAILMOHHBIX CHCTEM;
pacCMOTpEHHE BOMPOCOB (YHKIIMOHUPOBAHUS O0O0JIAYHBIX HMH(POPMAIIMOHHBIX
CUCTEM; U3YUCHHE APXUTEKTYPbl YUETHOM MH()OPMALIMOHHOW CHCTEMBI; U3yUEHHUE
XpaHWJuIla Y4YeTHOW UWH(OPMAIMOHHONW CHUCTEMBI, H3Y4Y€HUE CIIOCOOOB
OTCJIEKMBAHUSA OIIMOOK B Y4YeTHOW HMH(POPMAIMOHHON CcHUCTEME; H3yuYeHHE
CHOCOOOB  HCHPABJICHUS] OMIMOOK B YYETHOM MH(POPMALMOHHON CHCTEME;
pPaccMOTpPEHHE BOIIPOCOB OTINYHS CEPBEPHBIX M OOJaUYHBIX TEXHOJIOTUI; N3yUEHUE
OCHOBHBIX BHUJOB OOJAUHBIX apXUTEKTyp; H3y4YE€HHE CIOCOOOB MOHUTOpPUHIA
00JIauHBIX CEPBUCOB; M3yUYECHHUE >KM3HEHHOTO LMKJIa MH()OPMAIMOHHOW CUCTEMBI;
U3y4YeHHE  CTaHJApTOB  JIOKYMEHTHPOBaHHS  WMH(MOPMALMOHHBIX  CHUCTEM;

COCTABJICHUC KAJICHAAPHOI'O Fpa(bI/IKa BHCAPCHUA HH(bOpMaHHOHHOfI CHCTCMBEI.
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